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Practice Midterm Answers
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*Note: The two different answers come down to how you do the integral of csc(x). In my solutions
I do the following:∫

csc(x) dx =

∫
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csc(x)− cot(x)
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du du = csc2(x)− csc(x) cot(x) dx

= ln |u|+ C = ln | csc(x)− cot(x)|+ C

Now, the book says that the integral of csc(x) is equal to − ln | csc(x) + cot(x)|. What is
wrong? Try to prove it! First start with my solution above and try to work to the book’s
formula:
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where we use csc2(x)− cot2(x) = 1, so the integrals are the same, up to identity.


